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const n=10;
var mas:array[1..n] of integer;
i,id,num,indicator:integer;
begin
fori:=1tondo
masli]:=random(10);

writeln(mas);

writeln('BBeaute uncno gns nouvcka: ');
readIn(num);

indicator:=0;

for i:=1 to n do begin
if mas[i]=num then begin
id:=i;
indicator:=1;
break;
end
end;

if indicator <> 1 then begin
writeln('HeT'); end

else
writeln(id);

end.
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start=1, finish=n
poisk

while
begin
//Haxoonwb cepeauHy
ser=(start+finish) div 2
if mas[ser] > poisk
finish=ser
else
start=ser
end;

a+(b-a)/2 = (2a + b-a)/2 = (a+b)/2
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ser=(2+3)/2=2
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poisk=6
if(poisk>mass[ser])
start=ser
poisk=5
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const n=5;
var
start,finish,poisk,i,j,temp,ser,chislo,indicator:integer;
mas:array[1..n] of integer;
begin
start:=1;
finish:=n;
readin(chislo);
poisk:=chislo;
indicator:=0;

{mas[1]:=random(5);

for i:=2 to n do begin
masl[i]:=mas[i-1]+random(5);

end;

writeln(mas);}

mas[1]:=2;

mas[2]:=5;

mas[3]:=7;

mas[4]:=10;

mas[5]:=11;

while start+1<finish do begin
ser:=(start+finish) div 2;
if mas[ser] > poisk then
finish:=ser
else if mas[ser]<poisk then
start:=ser
else begin
indicator:=1;
break;
end,;
end,;
if indicator=0 then begin
if mas[start]=poisk then
writeln(start)
else if mas]finish]=poisk then
writeln(finish)
else
writeln("ducna HeT B maccuse');
end
else writeln(ser);

end.



